Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 9 am Quiz I 8/23W Exam #

Name k—@(/l Print Name

)
Please show work on all questions for {argal credit even on questions which do not specify. (25 total pts)

1. (a) Give the name of the element Na (2 pts)

Sod({ Una

(b) Give the symbol for the element sulfur (2 pts)

i —
s 2
2. centimeter means | G U meters or 10 raised to what power 0 {don’t forget sign) (4 pt, 2
pts each)
3. Significant Figures: Show work for determining correct number of significant figures in the

following calculations. (2 pts)

988.798 - 200.1 + 1.0601 = 789.6981 (calculator ct # ( to correct sig fig) is
1897
| 189, 7
— e
J

4, For the element N (nitrogen) answer the following (1/2 pts each blank, 4 pts total)

a) How many protons ' Z b} How many electrons for the neutral atom z

f4
¢) Give the symbol in the format 4X  for the same element 4 /

z

d) What group is the element in i & e) What period is the element in 2‘

f) What is the likely charge on the element '—'é (1/2 pts) Explain or show work. (1/2 pts)

e AL (DG = 2 J

g) Is the element a [(metal) or
pound made from The Tolfowing element or polyatomic ion, {4 pts

5. Give the formula for the ionic ¢
work)

Ca and (NO;")



6.  Name the following: (2 pts) CBVM /}M W#/Q’”e 7[//{7
SF @FPF@Q l-'/c //@1[@2;\6{/,%{
ons — ot reedled (Usualls [ esve . Mong)
SulLur hexotdlugvide

Convert from 235 Ibtomg (453.5g =1 Ib) Show work. {5 pts}

Z;?%K 4%3%K//QQ@) /O£§7Z)
paighy LY I

.07 x [G('fk?,

Extra Credit Question: (Avogadro’s number = 6.022 x 10**) (4 pts)

’7‘?«1;&* nely KEC,Osz/OZQ_

e SP45 Inu
Co Co

£.10 x/DZ}ﬂjf»\;@

b 5,4;36%



General Chemistry 1 (CHM 220) Fall 17 Dr. Hahn MWF 10 am Quiz 1 8/23W Exam #
Name Print Name

T

P4
Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)
1. (a) Give the name of the element K (2 pts)

@Oéélfﬁ Wh~

{b) Give the symbol for the element phosphorus (2 pts)

2. L -

milliliter means f (00  liters or 10 raised to what power , O (don’t forget sign) (4 pts, 2pts
each)

3. Significant Figures: Show work for determining correct number of significant figures in the
following calculations. (2 pts)

(988.798 * 2.170) / (2.040) = 1051.809637 (calculator number) correct # (fo correct sig fig) is

C 4 4 i
[o5e

4. For the element S (sulfur) answer the following (1/2 pt each blank, 4 pts total)

a) How many protons t (ﬂ b) How many electrons for the neutral atom __/ Qz
2L
¢) Give the symbol in the format 2X for the same element , S
b

z

d) What group is the element in é A e) What period is the element in /Z’

f) What is the likely charge on the element ~L- 7L~ (172 pt) Explain or show work.(1/2 pt explam)

C = .‘7’ Jonic M
g) Is the element a [(metal) or (x 3

5. Give the formula for the ionic compound made from the following element or polfyatophic ion. (‘f]its) (sho

work) @ S_p = -

(NH;*) and @—"

N L‘LZ @/ & 4)}
CrOM) + () -



6. Given the name write out the formula. {2 pts) C @ U: ( é gz £ — /\4’ 5 %

dinitrogen tetrachloride f\/ﬁ, C&(_ py,\ e ][/ }4

7. Convert from 7899.34 inches to kilometers (2.54 cm =1 inch) Show work. (5 pts)

1899.54 | WLoax L5ECm L
S \ | Ines /oaw - 1000~

: 5 ,
Qgi 0. 200645 3, 7 0, 200644

el
-—

Extra Credit Question: (Avogadro’s number = 6.022 x 10%) (4 pts)

If you have 92.3 grams of the element Fe (iron), how many atoms of Fe do you have ?

nsl
o 2 (ki - 995 xm”
QZI}} Fﬁ < SG.459 ¥ I el e (ZBers /’fe

55 85¢Fe = (020X 10" plinn

f\e e



Gen Chem [ (CHM 220) Fall 17 Dr. Hahn MWF 9 am Quiz I 8/23W Exam # (; - ;

Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)
1. (a) Give the name of the element Na (2 pis)

(b) Give the symbol for the element sulfur (2 pis)

2. centimeter means meters or 10 raised to what power {don’t forget sign) (4 pt, 2
pts each)
3. Significant Figures: Show work for determining correct number of significant figures in the

following caleulations. (2 pts)
988.798 - 200.1 + 1.0001 = 789.6981 (calculator number) correct # ( to correct sig fig) is

4. For the element N (nitrogen) answer the following (1/2 pts each blank, 4 pts total)

a) How many protons b) How many electrons for the neutral atom

¢) Give the symbol in the format #X for the same element
Zz

d) What group is the element in €) What period is the element in

f) What is the likely charge on the element (1/2 pts) Explain or show work. (1/2 pts)

g) Is the element a [(metal) or (nonmetal}}

5. Give the formula for the ionic compound made from the following element or polyatomic ion. (4 pts) (show
work)

Ca and (NOs™)



6. Name the following: (2 pts)

SFs

7. Convert from 2.35 Ibtomg (453.5g =1 Ib) Show work. (5 pts)

Extra Credit Question: (Avogadro’s number = 6.022 x 10”) (4 pts)

If you have 79.2 grams of the element Co (cobalt) , how many atoms of Co do you have ?



General Chemistry ¥ (CHM 220) Fall 17 Dr. Hahn MWF 10 am Quiz1 8/23W Exam # ‘ ~ 5

Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)
1. (a) Give the name of the element K (2 pis)

(b} Give the symbol for the element phosphorus (2 pts)

2.
milliliter means liters or 10 raised to what power (don’t forget sign) (4 pts, 2pts
each)

3. Significant Figures: Show work for determining correct number of significant figures in the

following calculations. (2 pts)
(988.798 * 2.170)/ (2.040) = 1051.809637 {(calculator number) correct # (to correct sig fig) is

4, For the element S (suifur) answer the following (1/2 pt each blank, 4 pts total)

a) How many protons b) How many electrons for the neutral atom

¢} Give the symbol in the format AX for the same element
Z

d) What group is the element in ¢) What period is the element in

f) What is the likely charge on the element (1/2 pt) Explain or show work.(1/2 pt explain)

g) Is the element a [(metal) or (nonmetal)]

5. Give the formula for the ionic compound made from the following element or polyatomic ion. (4 pts) (show
work)

(NH:*) and N



6. Given the name write out the formula. (2 pts)

dinitrogen tetrachloride

7. Convert from 7899.34 inches to kilometers (2.54 cm =1 inch) Show work. (5 pts)

Extra Credit Question: (Avogadro’s aumber = 6.022 x 10%) (4 pts)

If you have 92.3 grams of the element Fe (iron), how many atoms of Fe do you have ?



